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@

€))

©)

@

(b)

(©)

(d) 3

(e) 1

©))
(b)
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2)

3)
(d)
(e)
)
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@

€))
(b)
tanaka@sds.dpri.kyoto-u.ac.jp
kono@archi .kyoto-u.ac. jp
rc.sakashita@mail.archi.kyoto-u.ac.jp
rc.watanabe@archi.kyoto-u.ac. jp
(©)
(d) 3
1 14
2 1
CLB(Cross Linear Bearing)
3 16
15
(e) 1

CLB(Cross Linear Bearing)
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(b)
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CLB Cross Linear Bearing
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CLB(Cross Linear Bearing)

CLB Cross Linear Bearing
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10

e
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|
35
21
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5
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/
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i)

b)

22

L
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3'325 2324 23 p5
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h=0.03
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2 4 RC
1
4
X
h=0.03
1
[ka]
[mm] [mm] 2 4 R F . [MPa]
3000 7000 12000 13200 30
2
B[mm] | D[mm]
R 400 700 4-D25 4-D25 SD345
4 400 700 |4 +2-D25|4 + 2-D25( SD345
3 400 700 |4 +2-D29|4 +2-D29| SD345
2 400 700 |4 +2-D29|4 + 2-D29| SD345
3
B[mm] | D[mm]
4 600 600 16-D29 | SD345
3 600 600 16-D29 | SD345
2 600 600 16-D29 | SD345
1 600 600 16-D29 | SD345
4
2
E [MPa 2
[MPa] | [MPa] v A[mm] I[mm*]
4 30600 12750 0.2 117000 |[2.957>=<10"
3 30600 12750 0.2 43900 [2.664>=<10"
2 30600 12750 0.2 38600 [2.338><10"
1 30600 12750 0.2 37600 1.749><10"
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| PI[KN]  [KI[KN/mm][K2[kN/mm]
| / > 4 2.20 4975 130.0
| 3 185 186.6 46.7

""" 1 2 1.40 164.0 441

1 1.05 160.0 449
3
ii)
X 14m>< y 3m>< 0.8m
1
> 3
2
ky=a (A E /1 I) €))
a=0.022( 1/ B ) -0.05
oKy Ap £p / By
5 K
K = 3.84010° [kN/mm]
iv)
2 Yy 25m
5

im 22
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M
7Y
K2
VI
/ )
rrrrrrrr -M1
4
M
K2
—el :
: o1 o
5
5
y
2
glmml | E[MPal | Grvpay | AMMT | 4 pmmd | 7[mmd
800 16900 10800 | 5.027%10° | 4524x10° | 2.011x10"
900 33000 10800 | 6.362x10° | 5.726x10° | 3.221x107
800 37000 10800 | 5.027%10° | 4524x10° | 2.011x10"
6
A1[rad] [K1[kN m]|K2[kN m]
3321107 7.119%10° [ L.002X10°
4518107 1.724x10°| 2.589%10°
6.001x107| 1.615x10° | 6.004x10°
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2 y 29m 4
2 z m y
21m 6 0 3m 1.5m 2
3 29m Im 26 z 1000
7000m
6 Ramberg-0sgood D) 3)
7 1457
y,=0.00043, o =2.9697, B3 =1.5703 y,=0.00105, o =2.6040,
B = 1.3807 7
7, =Gy,
€
Initial Loading Curve (A-B)
s
lzi{prai J
v, T, T,
s
Gt=GO/{1+a(,B+1)Ti J
)
@)
Unloading Curve (B-C) Reloading Curve (C-A)

Tr

Ty

ﬁJ

[ ZGLO(T—TR)[1+OC ‘

|

T—1,

%

G, =G, /(1+a(ﬂ+1)

®3)
Yy

a, B vy,

C

6 Ramberg-0sgood
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G/G0

0.2

0.3 1 0.3
1 ““l 1 u h
0.25 0.25
// ' 0.2 A 0.2
\./ o N/
h W4 015 g “ /- 015
- 0.1 - o4 f/<‘ 0.1
\\ 0.05 0.2 // \ 0.05
. aa \"So . 4aa .
10° 10° 0.0001  0.001 0.01 0.1 10° 10° 0.0001  0.001 0.01 0.1
Y Y
€)) (b)
7
7
Ramberg-Osgood
[GL-m] v [misec]| 2 K9/ m’] G o[MPa] v 7y a B
0 15 110 183.7 21.8 0.465 | 0.00043[2.9697 | 1.5703
15 3 110 183.7 21.8 0.465 | 0.000432.9697 | 1.5703
3 4 10 183.7 21.8 0.465 | 0.00043[2.9697 | 1.5703
4 5 150 163.3 36.0 0.465 | 0.00105 |2.6040 | 1.3807
5 6 150 163.3 36.0 0.465 | 0.00105 |2.6040 | 1.3807
6 7 150 163.3 36.0 0.465 | 0.00105 |2.6040 | 1.3807
7 8 150 163.3 36.0 0.465 | 0.00105 |2.6040 | 1.3807
8 9 150 163.3 36.0 0.465 | 0.00105 |2.6040 | 1.3807
9 10 150 163.3 36.0 0.465 | 0.00105 |2.6040 | 1.3807
10 11 210 183.7 79.4 0.465 |0.000432.9697 | 1.5703
11 12 210 183.7 79.4 0.465 | 0.00043[2.9697 | 1.5703
12 13 210 183.7 79.4 0.465 | 0.00043[2.9697 | 1.5703
13 14 210 183.7 79.4 0.465 | 0.00043[2.9697 | 1.5703
14 15 210 183.7 79.4 0.465 | 0.000432.9697 | 1.5703
15 16 210 183.7 79.4 0.465 | 0.00043[2.9697 | 1.5703
16 17 210 183.7 79.4 0.465 |0.000432.9697 | 1.5703
17 18 150 173.5 75.0 0.465 | 0.00105 |2.6040 | 1.3807
18 19 150 173.5 75.0 0.465 | 0.00105 |2.6040 | 1.3807
19 20 260 183.7 121.7 0.465 | 0.00043[2.9697 | 1.5703
20 21 260 183.7 121.7 0.465 | 0.000432.9697 | 1.5703
21 22 260 183.7 121.7 0.465 | 0.00043[2.9697 | 1.5703
22 23 260 183.7 121.7 0.465 |0.000432.9697 | 1.5703
23 24 260 183.7 121.7 0.465 | 0.00043[2.9697 | 1.5703
24 25 260 183.7 121.7 0.465 | 0.000432.9697 | 1.5703
25 26 390 183.7 273.8 0.465 | 0.000432.9697 | 1.5703
26 27 390 183.7 273.8 0.465 | 0.000432.9697 | 1.5703
27 28 390 183.7 273.8 0.465 | 0.00043[2.9697 | 1.5703
28 29 390 183.7 273.8 0.465 | 0.00043[2.9697 | 1.5703
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i)
i)
1
iii)
10
4
iv) AlJ

10

Ks
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Ks = (374) {Ks (L + Hy [/ rs ) + K }

(6
Ko = {eKe (L + 2.5H 1 1z ) + oKp }
Q)
Hy re = (A /71T )Y?
A rp= (41 /7T )**
/ 2 Ksy Ka
PKss pKr
Ks, Ke
Ks={8/ (2 -Vv)IY(y/g) Vrs
(®
Ke= 18/ {83 (L -v)INN(y/g) Ve, ri (1-0.05a)
€))
Vv Y g9 Veg
a=w rp/ Vg, w
»ks  Chang
ks = Ep ILEs 1 (E5 1, )}
(10)
Es Ep /s 2
n N
Ks
Ky 2
k= a (A E /1 I)
(11)

a=0.022 (/1/ B ) -0.05
Pkl/ /4P EP / BP
P/(/?
/(5’ K/?

Ks / 2 [KkN/mm]
K, / 700% [KkN/mm]
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Vo 100 m/sec 300 m/sec

2
25 m V., = 390 m/s
e (1-0.05a)° 1
Vv = 0.465

y=(1.8>4+1.6>6+1.8>7+1.7>2+1.8>6)/25=1.74 [tf/n’]

Es=(474>4 + 12656 + 25307 + 1423=2 + 41116 ) / 25 = 2188 [tf/m?]
Veq = 100 300 [m/sec]
Ho =3 [m]
ry =\14x08/7 =189 [m]
r, ={4x (14°x0.8/12)7}"* =3.91 [m]
Ep/= 1726 000 [tf/m?]
Epm = 3 366 000 [tf/m2]
Epr=3 773 000 [tf/m?]
Bpr= 0.8 [m]
Bpm= 0.9 [m]
Bpr=10.8 [m]
Api = 0.503 [m2]
Apm = 0.636 [m2]
Apr=0.503 [m2]
2 Ip1=0.00204 [M4]
Ipm = 0.00326 [M*]
Ipr=0.00204 [m4]

/=23[m]
Vg = 100, 300 8
8
[kN/mm] [kN/mm]
V ., =100 [m/sec] 222 8610
V ., =300 [m/sec] 1560 18400
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S-100F-MFY -
[
Q00 I 4
3
Q-300(44 -
<_400 i i i i
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11 NTT B3 NS
4
12 15
iv) 2 Vey =100 [m/sec]
A V., = 100 [m/sec] B 16 19
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Cross Linear Bearing
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CLB 1/5

63
20
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320

280

PV[KN]
N
S

120

1 [ 2 | 3
[N/mm<] 0.8
[mm] 21<1 | 21><2 | 213
[mm] [3-175x175
[KN/mm] 12.9 6.5 4.3
Dy[mm] 4.2 8.4 12.6
Ky [KN/mm] 25.8 12.9 8.6
D, [mm] 13.6 273 40.9
(@}
[Hz]
[kN] [kN] ]0.1]0.2]0.3]0.4]0.5]0.7]1.0|2.0|5.0
150 100 o o olo|lo|©°
200 50 o o o|lo|lo|o
200 100 O O olo|lo|©
300 100 O o olo|ofo
350 50 ) o o|lo|lo|o
150 100 o o olo|o]|©
200 50 o o o|lo|lo|o
200 100 o o olo|lo|©°
300 100 o o olo|lo|°
350 50 o o o|lo|lo|o
150 100 olo|lo]o]o
200 50 oclo|o|e|e
200 100 o o o|lo|lo|lo]|o
300 100 o o o|lo|lo|lo]|o
100 50 o o o|lo|lo|o
150 100 O O olo|lo|©
200 100 o o o|lo|o|o
250 100 o o olo|ofo
10
[kN]
1 450.0
2 400.0
3 606.0
300.0
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297
50!

(b)

24
b)
i)
25

() (¢

1

2 25(a) (c) 1 2 3

2
1 CLB
3 25(d)
1 80kN

25(e) 1

N
w
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29

5Hz

300kN==100kN

26 2

0.1Hz

250kN==100kN
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500

400 |-

<,300

200

100

400

350 |-

300

[kN]

200

150

100

50

350

300 |-

250

[kN]

— TN
i

150

100

50

0 4 6 8 10
[mm]
@ 1
700 !
600 || ____ #
500 /
= /!
=400 / 7 /
300 /// /
200 » /
100 i ol
’—Hﬁ:;—_
0 5 10 15 20 25
[mm]
(o) 3
700 I
—1
600 |-
----- 3
——
500
=
=400
300
200
100
0 3

-133 -

20

25



250 250
200 j
= Z
=3 =3
& & 200
150
100
150 i
50 i
2 3 4 5 6 7 5.8 6 62 64 66 68 7
Sv[mm] Sv[mm]
(a) 150kN 100kN O) 200kN 50kN
300 T
400 { :
250 ol
= Z
i 3
g g
150 250
100 |- ; 200 [ a7
45 5 55 6 6.5 7 64 66 68 7 72 74 76 78 8
Sv[mm] Sv[mm]
©) 200kN 100kN (d) 300kN 100kN
400 500 —_— !
—— 150kN==100kN (0.1Hz) i
——200kN==50kN (0.1Hz) f
380 400 I === 200KN==100kN (0.1Hz) .
——300kN==100kN (0.1Hz) oy
----- 350kN=£50kN (0.LHzZ) 7
=360 R | }
=3 =300 .}
a a —— 300kN==160kN P
340 Pvi= -688 + 1365V i
R §0.992
200
320 v,
- /
300 |- 100 f '
4'"‘:*
280 i 0 Leser i
74 75 76 77 78 79 8 81 0 1 2 3 4 5 6 7 8
Sv[mm] Sv[mm]
(e) 350kN 50kN ) 0.1Hz
26 1
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: x r
250 f —0.1Hz =
—0.3Hz
----- 05Hz
——0.7Hz
__ 200 -neee 1.0Hz
z 2.0Hz
X
=
o
150
100 ol
50 |-... ol ; i
48 56 64 72 8 88 96 104
Sv[mm]
(a) 150kN 100kN
300
250
Z
=
& 200
150
100
8§ 85 9 95 10 105 11 115 12
Sv[mm]
) 200kN 100kN
400
380
=360
X
=
o
340
320
300
280
126 128 13 132 134
Sv[mm]
(e) 350kN 50kN
27

180

160

140

400

106 108 11 112 114 116 118
Sv[mm]

200kN 50kN

(b)

350 K

PVKN]

250

200

400
350
300

PV[KN]

200
150
100

50

-135-

11 115 12 125 13 135
Sv[mm]
(d) 300kN 100kN
[| ——150kN==100kN (0.1Hz) 7
——200KN==50kN (0.1Hz) =
[ ===== 200kN==100kN (0.1Hz)

——300kN==100kN (0.1Hz)
Ip—— 350kN==50kN (0.1Hz)

OKN = TOOKN! 'l
Pv = -979 + 105V .

R =0.985

JJ_

>l

.I"'-‘f- T ’




250 {

200 K

PV[KN]

150

100

50

150

100

(©)

—0.1Hz 5
240 ¢
—0.2Hz = =
----- 0.3Hz ~ g
220 0.4Hz .-
=N |IEEEE 0.5Hz a1°
& 200 e
-
180 =Sem
160
I -' : | |
. |
i 140
10 12 14 16 18 16 165 17 175 18 185
Sv[mm] Sv[mm]
150kN 100kN (b) 200kN 50kN
400
350
=
X
=
300
250
e i 200 |- B
136 144 152 16 168 176 184 192 18 185 19 195 20 205 21
Sv[mm] Sv[mm]
200kN 100kN d) 300KkN 100kN
700 : x x
——150kN==100kN (0.1Hz)
600 | —— 200kN==50kN (0.1Hz)
----- 200kN==100kN (0.1Hz)
500 b ——300kN==100kN (0.1Hz)
'E‘ .....
=
& 400 300kN-+100kN
Py = -1211 + 77OV
300 =

200

100
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PV[KN]

150 : ! r 250
200 K
Z
3
=
- 150
100
50
8.5 9 9.5 10 105 75 8 85 9 95 10 105 11 115
Sv[mm] Sv[mm]
(a) 100kN 50kN (b) 150kN 100kN
300 350
250 300
Z Z
3 3
= =
- 200 0250
150 200
100 : 150 f--vi-f
95 10 105 11 115 12 10.8 11.2 11.6 12 124
Sv[mm] Sv[mm]
(©) 200kN 100kN () 250kN 100kN
350 r r r r T
——100kN==50kN (0.1Hz2) l
300 f ——150kN==100kN (0.1Hz) '
----- 200kN==100kN (0.1Hz)
250 | ——250kN==100kN (0.1Hz) i
E‘ .....
X,
= 200 5OKN - 100kN
Pv = -1246 + 1283V
150 R.=.0.993

100 /
50 E.',.-""“

0 ﬂul:-'ll -

8 10 12
Sv[mm]

(e) 0.1Hz
29

- 137 -



CLB
K, 11
DxWxt = 175mm x 175mm, 21mm G8
240kN
12 30
K, Ky 10 15
11
K, Ky
11
R K fkNimm] K [kNimmy | K0 /Ka
Pv =-688 + 1365, 0.922 136 25.8 53
Pv =-979 + 1056, 0.985 105.3 12.9 8.2
Py =-1211 + 776, 0.982 77.4 8.6 9.0
Py =-1246 + 1285, 0.993 127.8 - -
12
No. 1990 1991 1992 1993 1994 1995
K 1[KN/mm] 25.0 23.6 23.1 24.0 23.1 23.1
[mm] 5.0 4.8 5.2 51 5.4 51
K, [KN/mm 240.0 260.0 312.5 357.1 278.0 357.1
K,IK, 9.8 10.6 12.7 14.5 11.3 14.6
K, IK, 0.98 1.03 1.06 1.02 1.02 1.06

K~24.5 [kN/mm]
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250
200

100

(mm)

=48t

Lot N0.0312-1992 H:

(mm)

=65t

Lot N0.0312-1995 H:

250
20 fF——————

()

=48t

Lot No.0312-1991 H:

250

W~~~ —~~ =%
50
0

(mm)

=48t

Lot N0.0312-1994 H:

250
200

150
100

Z
=

(mm)

=31t

Lot No.0312-1990 H:

250
200 - — — —
50

(mm)

=48t

Lot No.0312-1993 H:

30

(c)

(d)
)

pp.191-194

C-2

2002

2002.

pp.269-270 2002.

2)
)

2)
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